> 

слабые и сильные разрывы решения нелинейных уравнений 

Жакыпбай Нурбек

> restart;
> with(plots);
ввод исходны даных

> F := u->(u*u*u)/3;
[image: image1.wmf] := 
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> u0 := x->x;
[image: image2.wmf] := 
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> 

решение уравнения u-U0(u-f(x)t)=0 при t=0

> implicitplot(u-u0(x),x=-1..1,u=-1..1);
[image: image3.png]



> implicitplot(u-u0(x+diff(F(u),u)*0.5), x=-1..1,u=-1..1);
[image: image4.png]04




> A:=implicitplot((u-u0(x),x=-1..1,u=-1..1),style=line,color=blue):
> G:=implicitplot((u-u0(x+diff(F(u),u)*0.5)=0,x=-1..1,u=-1..1),style=point):
>  display({A,G},axes=boxed,scaling=constrained);
[image: image5.png]



> A:=implicitplot((u-u0(x),x=-1..1,u=-1..1),style=line,color=blue):
> T:=implicitplot((u-u0(x+diff(F(u),u)*0.1)=0,x=-1..1,u=-1..1),style=line,color=green):
> B:=implicitplot((u-u0(x+diff(F(u),u)*0.2)=0,x=-1..1,u=-1..1),style=line,color=violet):
> J:=implicitplot((u-u0(x+diff(F(u),u)*0.3)=0,x=-1..1,u=-1..1),style=line,color=yellow):
> K:=implicitplot((u-u0(x+diff(F(u),u)*0.4)=0,x=-1..1,u=-1..1),style=line,color=brown):
> G:=implicitplot((u-u0(x+diff(F(u),u)*0.5)=0,x=-1..1,u=-1..1),style=point,color=green):
> L:=implicitplot((u-u0(x+diff(F(u),u)*0.6)=0,x=-1..1,u=-1..1),style=point,color=violet):
> X:=implicitplot((u-u0(x+diff(F(u),u)*0.7)=0,x=-1..1,u=-1..1),style=point,color=orange):
> S:=implicitplot((u-u0(x+diff(F(u),u)*0.8)=0,x=-1..1,u=-1..1),style=point,color=yellow):
> P:=implicitplot((u-u0(x+diff(F(u),u)*0.9)=0,x=-1..1,u=-1..1),style=point,color=pink):
> F:=implicitplot((u-u0(x+diff(F(u),u)*1)=0,x=-1..1,u=-1..1),style=point):
> display({A,G,F,B,J,K,T,L,X,S,P},axes=boxed,scaling=constrained);
[image: image6.png]



> animate(u-u0(x),x=-1..1,u=-1..1,frames=50);
[image: image7.png]



> animate ((u-u0(x+diff(F(u),u)*1), x=-1..1,u=-1..1),frames=50);
[image: image8.png]05
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